Key to Final Exam; F4360; Spring, 2003; Monday, May 12th; page 1 of 6
Short-answer questions/problems

1.  What is the basic difference between a stock dividend and a cash dividend?

Stock dividend are shares of stock while cash dividends are paid in cash.

2.  Briefly explain how the payment of dividends help resolve stockholder-manager conflict.

Increased chance of firm issuing securities in the future.  Increased chance of resulting monitoring keeps management honest today.  

3.  Other than to serve as an alternative to dividends for getting cash to stockholders, why might firms decide to repurchase shares of common stock?

1)  change capital structure, 2) get rid of nuisance stockholders, 3) believe shares undervalued.

4.  If you were to order the dates associated with a dividend on a calendar, which of the dates would occur second?

Ex-dividend

5.  According to the signaling theory of dividends, how should stock prices react to an unexpected announcement by the firm that they intend to increase dividends?  What is the basic reason for this reaction?

Stock price should rise.  The announcement reveals management optimism regarding future earnings/cash flow.
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Problems/Essays

1.  Assume you own 100,000 shares of Redguard Inc. which has assets with a current market value of $600 million and a book value of $110 million.  Redguard also has outstanding debt that has a market value of $100 million and a book value of $90 million.  Redguard has recently announced that it plans to buy back 500,000 shares of its 10 million outstanding shares at a price of $80 per share.  

a.  What will be the price per share for Redguard stock after the repurchase?

b.  If current stockholders offer to sell back a total of 5 million shares, how will your wealth be affected if Redguard repurchases the shares via a tender offer?

c.  If Redguard repurchases the shares via transferable put rights, how much cash will you receive if you sell ½ of your puts and exercise the other ½ of your puts?

a.  
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b.  Can sell 
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Wealth(after) = 10,000(80) + 90,000(48.42) = 5,157,800 (5,157,894.74 w/o rounding)

Wealth(before):  
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W=100,000(50) = 5,000,000

Change in wealth = 5,157,800 – 5,000,000 = +157,800 (157,894.74 w/o rounding)

c.  # of puts per share = 10/.5 = 20

Value of put = 
[image: image4.wmf]58

.

1

20

42

.

48

80

=

-

  (1.57895 w/o rounding)

Cash flow = 
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2.  As a part of your job interview with Khajiit Inc. you have just walked into the office of the Chief Financial Officer (CFO) of the firm.  As you sit down, the CFO hands you a copy of the firm’s most recent 10-k.  She then asks you a two part question:  1)  How would you use the information in this annual report to decide whether to buy stock in Khajiit Inc., and 2) what additional information would help you use the information in the 10-k to decide whether to buy stock in Khajiit Inc.?  How do you respond to the CFO’s questions?  Be sure to discuss how you would use any additional information you mention in part 2) of your answer.

Calculate the following ratios:

1)  Activity ratios like total asset turnover, receivables turnover, inventory turnover => see how effectively assets being managed

2)  Profitability ratios like net and gross profit margin, return on assets, return on equity => examine profitability

Probably calculate the following ratios even though less helpful:

1)  Financial leverage ratios like debt ratio and interest coverage ratio => assess likelihood of default

2)  Payout ratio => assess likelihood of maintaining dividend

3)  Market-based ratios => price/earnings, dividend yield, and market/book
Calculate EVA => measure of performance consistent with cash flow and time value of money

Additional information needed:

1)  Industrial averages for these for these ratios

2)  Past 10-k’s so can calculate historical ratios for the firm.

3)  Stock price

4)  Return on 30-year Treasury strip

5)  Beta of Khajiit stock

6)  Kahiit’s bond rating

7)  Average return on bonds w/ Khajiit’s bond rating

What look for:

1)  Ratios:  deviations from industry numbers or trends away from industry averages can indicate potential problems.
2)  EVA:  positive and rising
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3.  Assume you are contemplating selling 5 put options on Argonian Inc. with a strike price of $40 and which expires 1 year from today.  The market value of Argonian’s equity is $300 million (or $30 per share) while the book value of its equity is only $120 million ($12 per share).  The standard deviation of returns on Argonian’s assets is 35%.  However, since Argonian has $100 million of debt in its capital structure, the standard deviation of returns on Argonian’s stock is 41%.   Note that the standard deviation of returns on Argonian’s assets and stock is greater than the market as a whole which has a standard deviation of returns of 28% but is less than the standard deviation of the puts you are considering buying which has a standard deviation of 68%.  (Note that equivalent calls have a standard deviation of 65%).  The average life of Argonian’s assets is 10 years and the average life of Argonian’s debt is 5 years.  Given the risk-free rates below, what is the least you would be willing to sell these puts for?
Risk-free rates by maturity (all APRs with continuous compounding):  1-month = 1.15%, 1-year = 1.28%, 5-year = 2.95%, 10-year = 4.22%, 12-year = 4.27%, 15-year = 4.51%, 30-year = 4.80%.
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=> sell for 
[image: image10.wmf]92

.

5792

100

5

58

.

11

=

´

´


4.  You are considering investing $5000 in JPMorgan Chase stock and $15,000 in Wal-mart stock.  In order to estimate the risk you will face, you have collected the following return data on Wal-mart and the S&P 500.  


Return on:  

Year
S&P 500
Wal-Mart
1999
+21
+28

2000
-9
+4

2001
-12
+6

2002
-22
-20
If you estimate that the beta for JPMorgan Chase is 1.76 and that the correlation between JPMorgan and Wal-Mart is 0.7, what is your estimate of beta the portfolio you will create?
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p = .25(1.76) + .75(.9903) = 1.18271
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5.  Suppose that George Bush is unable to get Congress to agree to cut tax rates on individual investors.  In fact, to everyone’s surprise, Congress votes to raise personal tax rates.  However, assume also that Congress reduces corporate tax rates.  Show graphically and discuss how these changes will affect the total amount of debt in the economy, the amount of debt issued by the typical firm, and the tax rate for the marginal investor in bonds.

Description of graphs:  

Let: 
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TD(1) be the initial equilibrium amount of total debt and TD(2) be the equilibrium total debt after the changes in the tax rates.
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Individual firm graph:  Both 
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Discussion:  Total debt falls.  The drop in the corporate tax rate reduces the incentive to have debt and the increase in the tax rate on ordinary personal income also reduces the incentive to have debt since more personal taxes are paid on interest.  The impact on the tax rate for marginal investor is unclear.  Finally, the optimal debt for the individual firm drops.  The drop in the corporate tax rate reduces the incentive for the typical firm to have debt and the increase in the tax rate on ordinary personal income also decreases the incentive for the typical firm to have debt.  
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6.  Breton Corp. is contemplating investing $350,000 today and $100,000 three months from today to build a new factory.  Of the $350,000 that would be spent today, $50,000 would be the cost to pay Land Reform Inc. who will be clearing and leveling the land later today should Breton decide to proceed.  The factory is expected to produce a net cash inflow of $45,000 eleven months from today.  After this initial cash inflow, net cash flows are occur every 6 months and are expected to decline by 2% each through the final cash flow ten years and five months from today.  The beta of the project is 0.9 which is less than the beta of the firm’s existing assets of 1.2.  Assume the risk-free rate is 1.1% and the market risk premium is 8%.  What is the impact of building the factory on Breton’s value?  Should Breton build the factory?

r = 1.1 + 0.9(8) = 8.3

[image: image60.wmf](

)

(

)

04067

.

1

083

.

1

2

1

2

1

=

-

=

r



[image: image61.wmf](

)

55

.

632

,

53

083

.

1

1

04067

.

1

98

.

1

02

.

04067

.

000

,

45

083

.

1

000

,

100

000

,

350

12

5

20

4

1

+

=

÷

ø

ö

ç

è

æ

÷

÷

ø

ö

ç

ç

è

æ

÷

ø

ö

ç

è

æ

-

÷

ø

ö

ç

è

æ

+

+

-

-

=

NPV


Build since NPV > 0

7.  Nord Inc. is considering paying a dividend for the first time.  Discuss the conditions under which stockholders might be better off if the firm take the cash they would have used to pay the dividend and invest it in a negative NPV project instead.

1)  Possible that loss due to negative NPV is less than loss due to taxes being paid by stockholders on the dividends they receive.

2)  Firm has debt in its capital structure and the project increases the variance of returns on the firm’s assets

=> high variance benefits stockholders at the expense of bondholders

=> stockholders get all the upside and have limited liability with limits their downside

=> bondholders do not get the upside but share the downside with stockholders.
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